Ay assembly
Instructions

train and track
activity table

assembly requires 2 adults
(approx. 1 hour assembly time)

WARNING! Minimum user age 3 years. Not suitable for children under
36 months - small parts, choking hazard. Hemispheric Shapes - Suffocation
Hazard. Adult assembly required. Only for domestic use. Indoor use only.




Advisory Section

To ensure the safety of you, the installer and your children, it is important that these instructions are read fully before
commencing the positioning and installation of this product.

1. Use on flat surfaces only at floor level.

2. Children should not be permitted to climb or pull on the train table. Improper use may cause the train table to
fall and increase the risk of injury.

3. The product is intended for use by children of the specified age and above. Adults should supervise the play area
to prevent injury to younger children.

Routine Maintenance

It is advised that on a regular basis all main parts / fixings are checked. Tighten when necessary.
Failure to do so may result in the product ceasing to function correctly, and could increase the risk of injury.

Remember to keep these instructions in a safe place for future reference.

Plum Products Ltd, Plum Products Australia Pty Ltd

The CIiff, Middle Street, Ingham Suite 303, 156 Military Road
Lincolnshire, LN1 2YQ, UK Neutral Bay NSW 2089 Australia

Tel: 0344 8805302, Fax: 01522 730379 Tel: 02 8968 2200
customerservices@plumproducts.com Email: aushelpdesk@plumproducts.com
www.plumproducts.com www.plumplay.com.au

Copyright Plum Products 2013

M/',O/(/

b
2 rodufts Co



WARNING!

Minimum user age 3 years

Not suitable for children under 36 months — small parts, choking hazard
Hemispheric Shapes - Suffocation Hazard

Adult assembly required

Only for domestic use

Indoor use only

Retain assembly instruction for future use

Use on flat surfaces only at floor level

Children should not be permitted to climb or pull on the product. Improper use may cause the product to become a hazard and increase
the risk of injury

VARNING!

Lagsta anvandaralder 3 ar

Ej lamplig for barn under 36 ménader - sma delar, kvavningsrisk

Halvklotsformer - Kvavningsrisk

Montering av en vuxen kravs

Endast fér hemmabru

Endast f6r inomhusbruk

Behall monteringsanvisningarna for framtida bruk

Anvand pa jamnt underlag och endast pa markniva

Barn bor inte tillatas att klattra pa eller dra i produkten. Felaktiv anvandning kan géra produkten till en fara och 6kar risken for skador

AVERTISSEMENT !

Age minimum de |'utilisateur 3 ans

Ne convient pas aux enfants de moins de 36 mois - petites piéces, risque d'étouffement
Formes hémisphériques - Risque de suffocation

Assemblage par un adulte nécessaire

Usage domestique uniquement

Usage interne uniquement

Conservez les instructions de montage pour référence ultérieure

Poser uniquement sur des surfaces planes au niveau du sol

Les enfants ne doivent pas étre autorisés a grimper ou a tirer sur le produit. Une utilisation non conforme peut rendre le produit dangeureux
et accroitre le risque de blessure

ACHTUNG!

Das Mindestalter flir Benutzer betragt 3 Jahre

Nicht flr Kinder unter 36 Monaten geeignet — Kleinteile, Erstickungsgefahr
Halbkugelformen - Erstickungsgefahr

Montage muss durch einen Erwachsenen erfolgen

Nur fir den Hausgebrauch

Nur zur Nutzung im Innenbereich geeignet

Bewahren Sie die Montageanleitung flr eine spatere Nutzung auf

Nur auf geraden Bodenflachen nutzen

Kinder diirfen nicht auf das Produkt klettern oder an diesem zerren. UnsachgeméaBe Nutzung kann dazu fihren, dass das Produkt eine
Gefahr darstellt und die Verletzungsgefahr ansteigt

ATTENZIONE!

Eta minima dell'utente 3 anni

Non adatto a bambini al di sotto dei 36 mesi. Contiene pezzi piccoli. Pericolo di soffocamento.

Forme emisferiche - Pericolo di soffocamento

E necessario I'assemblaggio di un adulto

Solo per uso domestico

Solo per uso interno

Conservare le istruzioni di assemblaggio per usi futuri

Usare su superfici piane e solo a livello del pavimento

Vietare ai bambini di arrampicarsi o tirare il prodotto. Un uso improprio pud rendere il prodotto pericoloso e aumentare i rischi di infortuni

WAARSCHUWING!

Minimum leeftijd van gebruiker: 3 jaar

Niet geschikt voor kinderen jonger dan 36 maanden - kleine onderdelen, verstikkingsgevaar
Halfbolvormige onderdelen - Verstikkingsgevaar

Montage door een volwassene vereist

Alleen voor huishoudelijk gebruik

Alleen voor gebruik binnenshuis

Bewaar deze montage-instructies voor later

Alleen op een vlakke ondergrond en niet op hoogte gebruiken

Kinderen mogen niet op het product klimmen of er aan trekken. Onjuist gebruik kan ertoe leiden dat dit product een gevaar wordt en kan
het risico op letsel doen toenemen



W,

4

AVERTENCIA

Edad minima del usuario 3 afios

No es conveniente para nifios menores de 36 meses, ya que posee partes pequefas que podrian causar asfixia
Formas hemisféricas - Peligro de asfixia

El montaje de este juguete debe llevarlo a cabo un adulto

Utilicese exclusivamente en el ambito doméstico

Utilicese exclusivamente en interiores

Conserve las instrucciones de montaje, ya que podria necesitarlas en el futuro

Utilicese solamente sobre superficies llanas y a ras de suelo

No permita a los nifios subirse al producto ni tirar del mismo. El uso inadecuado del producto podria convertirlo en peligroso y
aumentar el riesgo de lesiones

VAROVANI!

Minimalni vék uzivatele je 3 let

Neni vhodné pro déti mladsi 36 mésict — drobné soucasti, nebezpeci uduseni
Polokulovité tvary — nebezpeci zaduSeni

Vyzaduje se montaz dospélou osobou

Pouze pro domaci pouziti

Pouze pro vnitini pouziti

Ponechejte si montazni navod pro budouci pouziti

Pouzivejte pouze na rovnych povrsich na urovni podlahy

Détem by nemélo byt dovoleno, aby na produkt Splhaly nebo za néj tahaly. Nespravné pouziti mize zplsobit, Ze se vyrobek stane
nebezpecnym a dojde ke zvySeni nebezpeci urazu

I aas

3 aaiiedl jeal 5aY1 aal)

BURY) Hhad (5 jha alad - 5ed 36 050 JUlaDU aladiny mleay ¥

GUEAY) Hlad - 3y S Caal JIKS

b padd Jleall ol al s il il

Laid 1 5iall alasiudl

s 2l aladie

Slsine 230 Slead) S i Aalal) Cilaglally Jagial

A V) (s shae e dadaiall 7 gl e ad aadiu)

Alay) Jlaial 5 ha wiiall 05 G (& (A 2] o Wi ) i) e s grally JUb3 zlawdl ade cny

UPOZORNENIE

Minimalny vek pouzivatela je 3 rokov

Nevhodné pre deti mladSie ako 36 mesiacov - malé castice, riziko zadusenia.
Polgulové tvary - riziko zadusenia

Vyzaduje sa montaz dospelou osobou

Iba pre domace pouzitie

Iba pre vnutorné pouzitie

Ponechajte si navod na montaz pre pripad buduceho pouzitia

Pouzivajte len na rovnych povrchoch na urovni podlahy

Detom by nemalo byt povolené na produkt Splhat alebo za nej tahat. Nespravne pouzivanie moéze spdsobit, ze produkt sa stane
nebezpecny a zvysi sa nebezpecenstvo Urazu

OSTRZEZENIE!

Minimalny wiek uzytkownika: 3 lat

Nie nadaje sie dla dzieci w wieku ponizej 36 miesiecy — mate elementy, ryzyko zadtawienia
Ksztatty potkoliste — ryzyko uduszenia

Wymaga montazu przez osobe dorosta

Tylko do uzytku domowego

Tylko do stosowania w domu

Zachowaj instrukcje montazu na przysztosc¢

Stosowac na ptaskich powierzchniach, tylko na poziomie podtoza

Nie nalezy pozwala¢ dzieciom na wspinanie sie na produkt ani ciggniecie go. Niewtasciwe stosowanie moze sprawic, ze produkt stanie sie
zagrozeniem i zwiekszy ryzyko odniesienia obrazen ciata

ADVARSEL!

Minimum brugeralder 3 ar

Ikke egnet til barn under 36 maneder - sméa dele, fare for kvaelning
Halvkugleformede former - Kveelningsfare

Skal samles af en voksen

Kun til hjemmebrug

Kun til indenders brug

Gem samlevejledningen til fremtidig brug

M& kun bruges pa flade overflader i gulvniveau

Born ma ikke klatre pa eller treekke i produktet. Forkert brug kan forérsage, at produktet bliver til fare og eger risikoen for legemsbeskadi-
gelse

',0/(,

'Pr
oqy, Cs.co



UYARI!

Minimum kullanici yasi 3 yil

36 ayliktan kiiclik cocuklar icin uygun degildir — kiick pargalar, bogulma tehlikesi
Yarim Kduresel Sekiller — Bogulma Tehlikesi

Bir yetiskin tarafindan monte etmesi gerekir

Yalnizca ev kullanimi igin

Yalnizca i¢ mekanda kullanim igin

Montaj aciklamalarini ileride kullanim icin saklayin

Duiz ylizeylerde, yalnizca zemin seviyesinde kullanin

Cocuklarin triine tirmanmasina veya Urlint gekmesine izin veriimemelidir. Uygun olmayan kullanim, Griintin bir tehlike olusturmasina neden

olabilir ve yaralanma riskini artirabilir

FIGYELMEZTETES!

Minimalis felhasznaldk kora 3 év

Nem alkalmas 36 hénapnal fiatalabb gyerekek szamara - apro részek, fulladasveszély
Félgomb alaku alakzatok - Fulladas veszély

Felnétt Osszeszerelése szikséges

Csak otthoni hasznalatra

Csak beltéri hasznalatra

Orizze a szerelési utasitast késébbi hasznélatra

Hasznalja sik fellileten, csak a padl6 szintjén

Gyermekeknek nem engedélyezett a termékre maszni, vagy azt huzgalni. A nem megfelelé hasznalat miatt a termék veszélyessé valhat, és

novelheti a sérlilés kockazatat

MPOEIAOMNOIHZH!

EAdxiotn nAwia xpriotn 3 €t

Aev givat KatdAnho yia Taidid Katw twv 36 Pnvwv — TEPIEXEL HIKPA KOUMATI, KivEuvo TViyHoU
Huopaipika oxipata — Kivduvog mviypou

Amaiteital ouvappoAoynon amd evilika

Mévo yia olklakn xprion

XpRoN HOVO O€ ECWTEPIKOUG XWPOUG

DOulagte TIG 08nyiec cuvappoAdyNnong yia HEANOVTIKA Xprion

Xpnon oe emimedeg emeaveleg povo oto eminedo tou damédou

Mnv emitpémete ota maidid va OKAp@AAWVOoULV 1 va TpafBouv To Tpoidv. H akatdAAnAn xprion pmopei va urmofabpicsl Tnv ao@AAEla TOU TPOIOVTOG e

anotéAeopa auénpévo Kivduvo TpaupaTiopou

Eéztl:|

%'ﬁ%ﬁ—ﬁﬁﬁ’* 3%

3mAmDFHITITBELE R A - BB@mNNEV D BRDERDIDIET

FIRIRTY - %,MUDF ROV IE T
ANICKBEIDBETT

REERNEA D>

ERERDH

FRICRA IR REZRELTIIEL,
ROSEDFE TEALTIEEL,

FHOIRMIC EDTcE| 0RO T AHTENFFR ENONETIEH I E A,

REEFEAICI O TR ERDRERREGSIZED DY BEDERIENERLET,

73 31!
HAARE 3 AF

A&
A AR 318
=z S| /\1



B A

RIEAFE 3 #%

AiEeE 36 MHUUTHJLE - NMNMHEEEER
FEIPIR - AEEER

AR A\ A%

(LS H]

(L=

PriFZe R I DA e

(W RTAE T Y 7K SR EfEA -
JIEAGEESHIHEAT 5 o A S EM RS SR g AUE E T 12 05 A -

=

RIEHPE 3 ik

AEE36 HHLLUTRE- NIFAZER R
FEIIR - AEEERE

CEIPONAEE

{EBLo ]

EHE=EEH

PRiFZeEeaR I DU 12

{E FTAERN I Y /KSR EfEA -

SLE A ENESHI A L o A E (8 A RE G BB E b i e F A N2 5 -

oY,
6 lhpfodu
Cts co



PART ID PARTS LIST QUANTITY FASTENER LIST:

M4 x 25 x32
1 4
‘ M4 x 35 x8
b
444x406x12 mm
2 - : ' = > Max17 (b x12
17mm
. 800x210x24 mm |
M6 x 27 »»»)»»)»») X8
° : - 2 27mm
. 800x130x12mm |
4 1 M6 x 48 »»»»»»)»»)»»»» M x20
.540x130x12 mm| L 48mm |
P210x 11 = x20
5 2
.550x260x12 mm |
o[2]
6 2

ACCESSORIES

390x128x9 mm

° e =
7 : : 2 A 1

[P
390x128x9 ml"n

FT7X138x8 e “
= s c \f, :
° 820x50x12 mm 2 ‘\ /

E 1
425x389x3 mm
1" 2 F E 1

1090x400x6 mm G
Nm—

3(‘)Ox56x35 r‘nm
N—— TOOLS:

13 N 2
300x56x35 mm PZ2 :‘

X
14 ﬂ0x20x20 mm 4

—
15 ﬂOXZOXZO mm 4

16

12

l—.|51x25x51 mm o




PARTID ACCESSORIES QUANTITY PARTID ACCESSORIES QUANTITY
2 " b
b e ; B0 2
c % 9 q-1 C 1

o=@
e % 2 a-2 2
r ﬁ 21
f z% 1
s @ 16
9 % L t-1 @ 8
h % 1 t-2 @ 8
u-1 ] 1
i 1 S
% u-2 1
TN
u-3 1
j % 1
u-4 /A 1
k % 1
u-5 1
% 1 u-6 % 5
V j 4
m 1
[ ]
w 9
]
“ oo ' | . ) 1
Y =
° ‘ll ¢ y <~ 3




M6 x 27 »)»»)))»)»» X8 M6 x 48 8
27mm o . 48mm _|

@10x 11 \';/j X8

L~

M6 x 48 x4
o | 48mm__|

Zi

@10x 11 <) x4




M6 x 48 l))))))))))))))))))))))))) D x8

48mm

x8

@210x 11

425x389x3 nim










Tracks Assembly Instructions

ould s
m/feedback we would appreciate it

we value your opinion. If you ¢
http://www.plumproducts.co



710235060/ LA



